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* EARE(C(E, Higing, WBENE L. IFELENEME 1. MERBER-A TV ITEZEBNENEENET. %14 BHEE308 THELTVET,
B4R e P EIERME D (ABWES0M/H)  cem)  EIEIME @ (AEW1,360M/H) i

BEI1T| BNEE | EANES | MERRGOIS 1BHE| 1 BAE| |B=y1T7| BENEE |BEARNS | MERRGOUS 1BME| 15 BfE| |27 BENEE |EARS | MEERGIS 1B 14 B

ZMN#EL| 787 | EE&E 2,000 | 6,166 184,980 ZN#EL| 787 | EE&E 1,310 | 4,256 127,680 ZM#EL| 787 | EEFE 1,310 | 4,966 148,980

(FES) EZMN#E2 | 837 '# 1,870 |6,216| 186,480 fE=® ZM&2| 837 B8 650 |4,306(129,180 E=® ZME2 | 837 ## 1,360 |5,016( 150,480

e |EN#E3| 908 |(BAmE 509 |6,287|188,610 FLe |EN#E3| 908 (Amm&# 509 |4,377(131,310 sLe |EN#E3| 908 |AAm& 509 |5,087(152,610

e HES S
g | BENEA | 969 |mmmam 200 [6,348|190,440| | | g | ENE4| 969 |mmmrm 200 |4,438|133,140| ||| ENES| 969 |mmmsm 200 |5,148| 154,440

ZM#ES5 | 1,022 =# 800 |6,401|192,030 ZM#ES5| 1,022 =8 800 |4,491| 134,730 EZM#ES5 | 1,022 =# 800 |5,201|156,030

EZN#EL1| 787 | EEE 2,000 | 5,966 178,980 EZNEL| 787 | BE&E 1,310 | 4,056 121,680 ZNEL| 787 | BAFE 1,310 |4,766( 142,980

[E=Q | =n#€2| 837 | =#m 1,870 |6,016|180,480| |{g=@ |=n®2| 837 | =# 650 [4,106|123,180| |[E=@|=n®2| 837 | =# 1,360 |4,816| 144,480

.| Bn#E3| 908 |ERAm&E 509 |(6,087]|182,610 | EN#E3| 908 |BmmE 509 |4,177|125,310 | EN#E3| 908 (BmmE 509 (4,887]146,610
FLEe FLe FLe

REEM | B4 | 969 |mmmsm 200 |6,148|184,440| | FEEM |mnsE4 | 969 |masmsm 200 |4,238]127,140| |FEEN | A4 | 969 |masssm 200 |4,948] 148,440

EM#ES| 1,022 =8 600 |6,201|186,030 EMN#ES (1,022 =8 600 |[4,291]128,730 EM#ES5| 1,022 =8 600 |[5,001|150,030
EN#E1| 870 | BEE 550 |[3,999( 119,970 EMNE1| 870 | BEE 370 |2,599| 77,970 ENE1| 870 | BaAE 370 |3,309| 99,270
ENE2| 926 &% 1,870 |4,055| 121,650 ENE2| 926 BE 650 |[2,655| 79,650 ENE2| 926 &% 1,360 |3,365| 100,950
4 A ENE3| 996 |Em@E 509 |4,125|123,750 4\ NiE 2 4\ niE 2
r ) I'e= oo , , 21 BNES3 996 |BRRE 509 2,725 81,750 e BNES3 996 HRRE 509 3,435 103,050
HRE HRE HRE
ENE4 | 1,054 |saeem 200 | 4,183| 125,490 ENGE4 | 1,054 |smexm 200 |2,783| 83,490 EN#E4 | 1,054 |samexe 200 | 3,493 104,790
EMN#ES| 1,110 =8 0 |[4,239(127,170 ZMN#ES5 (1,110 = 0 |[2,839] 85,170 EMN#ES| 1,110 =8 0 |[3,549(106,470

(55 2 ExPis - 26 1 =P - T DOMRBONEREIERETY)
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* BARIE(C(E, g, QBEME 1. BELBREME 1. MEWMESER -7V TEEMENEFENET,

BH6F4RTIE)
X1 BEEE30BTHELTVET,

5B 2 ERpE M) 51 ERPE (ClrA)) TDOHRNEE
BEIT| BNEE | EANES | NMERRGOEISHN 1BHME| 1 BlE| |B=97| BENEE [EARE | NMERRGIER 1BHME | 15 BillE e =S/ (1 8H50M)
=1 | 787 | EEm 490 |3,176| 95,280 =Nl | 787 | BEm 490 |3,086| 92,580 TLES, BERREHHEAHDES
BZED | - £ v 1
=E2 | 837 am 390 |3,226| 96,780 | |EED 837 8% 300 |3,136| 94,080 o 52 (12v N560M)
sLe |E=nE3| 908 |Bmem 509 |3,297| 98,910 FLE 908 |mmsE 509 |3,207| 96,210 FERET —ERZHNBNIIEE
SHEA SHES
st | BTEE4 | 969 |mamess 200 |3,358| 100,740 ] LAS 969 |zmwxz 200 |3,268| 98,040 O IFESMK (E£B)
Ak HS—, N—IBOBESR
N#Es| 1,022 =8 800 |3,411]102, , =5 3211 99, )
=1 02,330 1,022 # 800 |3,321] 99,630 P AR S e
=E1| 787 | BEE 490 [2,976| 89,280 787 | mE® 490 |2,886]| 86,580 o EESIEE (=8)
A TINISYFHEBS. BLTHC
= 152 | 837 2% 390 |3,026| 90,7 = B 2, ,
B=Q | &N 80 | |1@=Q 837 B 300 936| 88,080 T R R iR A
e =1%3| 908 |BM®m 509 |[3,097| 92,910 e 908 |Em®& 509 |3,007| 90,210 oTEE (=B)
\ \ TE - AR NOBCSHFLCEST
SEEAH | w4 S 1 474 SEA s 7
i) 969 200 |3,158| 94,740 969 |z 200 |3,068| 92,040 Y N S S
=S | 1,022 =8 600 |[3,211] 96,330 1,022| =8 600 |[3,121| 93,630
=M1 | 870 | Eam 370 |2,339| 70,170 870 | maem o |1,879| 56,370 KTOM, REZNIZ< S ENES
BAICIE. TOHEREDS & ICHUR
=E2 | 926 &% 390 |2,395| 71,850 926 &% 300 |1,935| 58,050 TRTVWEREET
f* =13 | 996 |Bm®m 509 |2,465| 73,950 f* 996 |BEm®& 509 |[2,005| 60,150
ERE ERE
BENE4| 1,054 |maweesm 200 |2,523( 75,690 1,054 |z 200 |2,063| 61,890
B2N#ES5| 1,110 =5 0 2,579\ 77,370 1,110 =5 0 2,119| 63,570 (%5 4 EBB% - 55 3 BRSNS E(IETTT)




